SUMPOEIESANI OIS A

l)—
X — A EDEAT RT T I IV EHERES
A{TMIRREES (EPD) EREBTRBXAWET-14-8
Eix&ES © JR-AI-21116E KANDA SQUARE GATE

https://ecoleaf-label.jpo

A9 yrMEEH
m Color Inkjet All-in—One
at your side M FC_J 6540 DW for North America

I5Y—T##%A a4t / BROTHER INDUSTRIES, LTD.

y =i

HEH ERES JR-AI-21116E
JERAPCRES PA-590000-AI-05
Hm1aHnih
PCR#% BURA D4R [5550R]
HEN SRS VNE|=] 202348H30H
m RREA CIFhRaEs WIISIEE 2023538238
[EAARINE., AR, Tl B - HES SR, BRE-US) REEA T S AT LFRIEATR
HEDBN, ETEMLE - 5 RIIES JV-AI-21116E
B : MFC-16540DW mEIE% AR 202843H22H
ESFZ2ATFITI) (h3-DAR) PCRLE1-D=E}E
-AREE : 18.5kg. BEAMD : 3.2kg RIEHZE 20234 1H6H
‘B KFEHY (X : A3 FEER I B2
« 2= /)\—G33di% (—MHEEAN Y R T T T IR S HEEAE)
- BBVl E ENRIHEE BB RS *
-BiR/HERLAN NEPIREEE /B8 REE

KAREMmEAEKAMIF T,
ISO14025(CED EAREERUT —F DL U TARSE
CIED m BB
*3 25 NI AR I e BRAADRIIDRAE. S5 ARIET>
EEEEDREETH.
Ci[AY=y slce 5
J-TEMRRST K[IEZBITEEES
TEL: 052-824-2511 (ft%) FAX: 052-821-5177  https://www.brother.co.jp/
ZiES ¢ JR-AI-21116E



https://www.brother.co.jp/

TIY—J SUMPOERIESANI OIS A
. —RRAEEAY XTIV ERERGE

A TMRIBEEE (EPD) ERHTROEAME-14-8
Zixgss . JR-AI-21116E KANDA SQUARE GATE
https://ecoleaf-label.jo

O34 TV VIV EFmGER

0% 20% 40% 60% 80% 100%
SURZEE) IPCC 2013 GWP 100a 270 |kg-CO2eq
[izdeale 0.15 |kg-SO2eq
BRHE 0.011 | kg-Sbeq 6
m DRMEE QR " QFE
ROEA-HIEEE wORE-UY UL
PR B Bd {5y =11 OFRMBEE Q%= Qi | #ISEE cER- UB1IL
SURZS IPCC 2013 GWP 100a | kg-CO,eq | 2.7E+02 || 1.4E+02 | 1.2E+01 | 1.3E+01 | 6.8E+01 | 3.9E+01
(e kg-SO.eq | 1.5E-01 | 9.4E-02 | 1.4E-03 | 2.2E-02 | 1.7E-02 | 1.8E-02
ERHE kg-Sbeq | 1.1E-02 | 1.0E-02 | 3.2E-05 | 5.4E-05 | 8.7E-04 | 9.1E-06
QT ITVAIIA N> BUDIREE COMPRUMEICET S8
I5H #E -8 (ERgD)
IEBAEAIREEIR 1.2E+01 kg PG 3.8E+00 kg
JEBATRE T RILF— 4.0E+03 MJ Sus 7.2E-02 kg
BAOEEER 2.7E+01 kg TIL="D A 1.2E-02 kg
BAEAEEIRILF— 2.0E+02 MJ T DfhEE 5.6E-06 kg
HKKDHE 2.3E-01 m3 TS AFvo 1.2E+01 kg
N 4.5E-02 kg
HSXR 1.2E+00 kg
T N 2.4E+00 kg
EROIFEER 6.5E-01 kg
Z At 1.1E+00 kg

OHEMRRICET SEMNBH

EFRBREOEESE (SFUA)
IJ7OTEY (ESRRBYE) | ABEEASR : 54, XRE : §48,0004%
BARMERER)(H—>  ITU-T No. 15 v — b EIRIARERESHICESFA. ABREICREET

©-1.TDMORIZEERH

AREROMBITEE E FBEBRD > IRUNY REIE(FISO14001FBEEHR TIHICTITHONTLET,

DEFERUEZRT—IDERS
IDEA v2.1.3 NMUSUMPOEBIESARILTIOT S ABRERENA v1.10 BER U,

®fF%

0> —FEEDHEF. PCREKLUVERE - EEMREZSRUTIIZE,
OLLECDTIE. BE - EEMEICHREINERMER/UBSICUNEBDHENEH A
(ZBB5EURL : https://ecoleaf-label.jp/regulation/)
SixEs . JR-AI-21116E



	ｴｺﾘｰﾌ①
	ｴｺﾘｰﾌ②

